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SEE Electrical V3R6 KERNEL Windows XP 13/12/2006 Quality Technical EN
Expert Support
Subject:
REPLACE A SYMBOL BY ANOTHER SYMBOL WITH THE SAME BEHAVIOUR
Possibles causes:

Our proposed solution:
It is possible to replace one symbol by another, even if these two symbols do not have the same number of connection points.
Two commands are available: the menu command "Edit/Change/Symbol/Replace by Another Symbol" and the contextual command "Modify/ Replace by Another Symbol".
Several cases are possible:

The two symbols possess the same behaviour

In this case the symbol will be replaced if the connection points of the source symbol, related to connections, are present on the new symbol.
Otherwise the software will display an error message.

The two symbols possess different behaviour

It is not possible to replace a symbol by another symbol with different behaviour.
The software displays the following error message:
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\!!) Thiz command iz pozzible if the bwo symbolz have the same behaviour, function and ather internal parameters

e  Other cases, where these commands are hot active:

- On the symbols “terminals”
- If the black box source is connected to another black box by a connection of type master/slave.

- If the new black box and the black box source have different parameters of distortion (parameters defined upon symbol creation).




